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= Year 9/10           = MEASUREMENT           = Worksheet 3
	1. Find the exact difference in lengths between the inside and outside perimeters of the running track. Radii: 45 m, 54 m.
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	2. If a square of side 1 cm is inscribed in an equilateral triangle as shown, what is the perimeter of the triangle? Write your answer in surd form.


    

	3. If a circle of radius 1 cm is inscribed in an equilateral triangle as shown, what is the exact perimeter of the triangle? 





	4. Six round pens are bundled together and the cross-section is shown below. What is the exact length of the tape that binds them? Radius = 1 cm

                                                                    



	5. Find the exact total length of all the straight lines in the following square with side length of 
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cm.





	6. Find the exact perimeter of the arch.


                                                      
                                       1 cm        2 cm         1 cm

	7. Find the exact perimeter of the sector shown below.   



                                                       150(                                 

                                                 1 m                    


	8. Find the exact perimeter of the segment shown below.   

Radius = 1 cm


                               4(/3





	9. Find the exact length of the belt around the two wheels (radii 1 cm and 4 cm) with their centres 6 cm apart.





	10. Find the shortest distance from vertex A to vertex B travelling on the surface of the cuboid.                    
                                                                           A

                                                                  3 m

                                                                                           1 m

                                                                              2 m   B

	11. Find the shortest distance from A to B travelling on the surface of the cylinder. Radius = 
[image: image2.wmf]p

30

cm,                    A
height = 40 cm.                    

                                                                                     B 

	Numerical, algebraic and worded answers.


1.  18(  m


2.  3 + 2(3 cm


3.  6(3 cm


4.  12 + 2(  cm


5.  4 + (9/2)(2 cm


6.  3( + 2 cm


7.  2 + 5(/6 m


8.  (3 + 4( /3 cm


9.  6(3 + 6(  cm


10. 3(2 m


11. 50 cm
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